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1 kAT, EHDFELERY.

ENVEEZRELTULETHM?

4 3 2 1
EFEH 49%]| 38%| 11% 2%
BFER 45%| 37%| 14% 4%
REH 48%| 38%| 11% 3%
HhEARE 55%| 37%| 6% 2%
g 43%| 41%| 11% 5%
AREF 55% | 31% 8% 6%
BREL, =R 40% | 45%| 13% 3%
1 EL24 48%| 38%| 10% 4%

M2 ZAEF. BELPT L, TEIZEZATSNETHN?

4 3 2 1

EFEH 62% | 28% 7% 3%
BFER 52%| 33%| 10% 5%
REM 53%| 36% 8% 3%
HhEARE 53%| 36% 9% 1%
HF 58%| 35% 6% 2%
AER 66%| 31% 3% 0%
BREL, =R 52%]| 40% 7% 2%
1 EL24 57%| 34% 7% 2%

13 KEDFEDRE A,

EYRAE—KRIE#EYITYM?

4 3 2 1

EER 67%| 26% 5% 2%
BFER 47%| 34%| 14% 4%
HER 55%| 35% 9% 1%
HhEE 2 RE 61%| 33% 5% 1%
B 57%| 34% 8% 2%
AER 79% | 19% 2% 0%
BREL, =R 60%| 34% 5% 1%
1524 61%| 31% 7% 1%

4 ZEOBEMOLZAAFIXIATVSEENEITMN?

4 3 2 1

EFEH 56%| 34% 7% 3%
BER 48% | 36%| 11% 5%
EER 52%| 38% 8% 2%
N R 57%| 37% 5% 1%
g 51%| 40% 7% 2%
KEH 70%| 27% 2% 0%
BREL, =R 53%| 37% 8% 2%
1524 55%| 36% 7% 2%
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M5 REPIC, BEXLY, FHLEYTIRIEERSATOEIAN?

4 3 2 1

EER 52%| 32%| 11% 5%
BER 54%| 32% 8%| 5%
HEERE 65%| 28% 6% 2%
HFE N R 60%| 33% 6% 1%
Lk S 51%| 35%| 10% 3%
KEH 81%| 18% 1% 0%
BREL, =M 57%| 34% 6% 3%
124K 60%| 31% 7% 3%
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e HEERTT. BHEOEAVCEMAMELEZERETETIMN?

4 3 2 1

EFEFR 45%| 39%| 12% 4%
BER 39%| 42%| 13%| 6%
HEERE 39%| 48%| 11% 2%
HEARE 44%|  43%| 11%| 1%
) 38% | 44%| 14% 4%
KEH 47% | 47% 5% 1%
BREL, =M 45%|  43% 9% 3%
124K 42%| 44%| 11% 3%
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